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® Simple paper. “board effectiveness”: two surface factors.

® (Q: Main question is corruption?
A: One person should not take two positions according to the governance but it happened in
this company.

® There are many indicators to evaluate but the author just took two indicators.

® Focus: anti-corruption. Suggestion: to focus on the analysis and variables relating to the
board. Just two factors, so more factors, more angles.

® Page 35. Interesting: before and after the change.

® The relationship between CEO and members of the board is interesting and important. Easy
to create corruption.

® How do senior officials be monitored by the board?

® Only one sample cannot represent the statistics.

® Appreciate the paper. Main problem: want to solve one problem only based on one example.
That is really a big problem.

® 10 years history is not enough. Maybe 30 years is enough for regression method.

® Suggestion: take case study first in MBA paper and take empirical research in PhD research.

® Page 41, 5.3.: with data like that, it is not supporting the result. The writer have to raise the
population to about 30. Maybe to change a testing method is more easily.
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® (Q:What is the main contribution?

A: not only focused on financial topic, but also the corporate strategic. E.g.: to consider



whether one product is profitable or not.

Q: What are the main theories?

A: transaction cost.

How do a company decide whether to buy or to make?

Logic of the paper is not clear. Calculation for the decision of buy or make is not provided in
the paper. Benefit is not only financial benefit, but also managerial benefit.

Q: What is the product level?

A: lighting business or LED business.

Problem: too many theories. Suggestion: use one theory.

Make or buy is a financial strategy (maybe related to overall strategy). On page 34, four
segments, we haven’t been identified which one is suitable for the decision.

You have the idle capacity. To make clear the cost analysis and cost behavior.

Case study is quite good if the writer can focus on only one theory.

Make or buy is not equal to acquisition or merging. The author confused this two. One
belongs to company level, another belongs to product level.

Gie: R LEARICER, HREHOBERSOHEE R FHTIAE

4-4
s AR B A ) ?

Zre RO AT ROTEG ANBEIE & [RIOR R 2 A4

JLEE L)Y e E 4], debt restructuring. ANJ& re-combination.

A ARG ISR, A ?

Zre FEARKRTTUHILE T

B E A TR, AEPIB RN HFAI, MArH 2, AT
s T RIREAT 2 KU 2

R ANKNTG . THAS ANTUUAS ) 1) jU G 24— IER (Ui 22 1) BOside 32
28 B 2EAT R A

4-5

Government Company has heavy assets.

Page 32 suggests that the writer want to change from light asset to heavy asset.

Title: financial strategy. So please focus on it.
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The conclusion is not concluded from the dissertation but from others’ research.

Quoted a lot from others. In personal case, the writer should not quote from others when
she needs to give her personal opinion instead of quoting from others even the CFO.

5. WL 2EATIR SUE B

4-6

Agood example. Result can support the conclusion.

Problem: after chapter 4, the writer cannot give the reason why comes the satisfaction. % /5
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Q: What are the key problem?



A: 1. Equality control. 2. Pricing policy.

Need to point out what had been found out? What is the result and conclusion?

Good: conducted a survey and enough samples.

Suggestion is not directly related to the question. How to evaluate the capacity to make joint
development.

In chapter 5, need more to joint development.
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Research on the declining satisfaction on the Key Account on the xxx Company: causes and

solution.
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Q: how do you describe ...what are the motivation? Who runs the country? How to regulate
inside abuse?

A good sample of Nigeria Bank. Methodology and survey are also good.

Title: customer relationship. It is inside the bank. The writer did a lot analysis in chapter 4
and provide many details. But the details may not support the findings.

The findings are based on capital, which is internal in the business.

How do HR or customer relationship relate to reengineering? It has to make more clearly.
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